

In[]:= **ME = MatrixExp;**

In[]:= $\rho t = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}; \rho y = \begin{pmatrix} 0 & 0 \\ -\epsilon & 0 \end{pmatrix}; \rho a = \begin{pmatrix} (1+1/\epsilon)/2 & 0 \\ 0 & -(1-1/\epsilon)/2 \end{pmatrix}; \rho x = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix};$

Simplify{ $\rho a.\rho x - \rho x.\rho a == \rho x, \rho a.\rho y - \rho y.\rho a == -\rho y, \rho x.\rho y - \rho y.\rho x == \rho t - 2 \epsilon \rho a$ }

Out[]:= {True, True, True}

In[]:= **(prod = ME[$\tau \rho t$].ME[$\eta \rho y$].ME[$\alpha \rho a$].ME[$\xi \rho x$]) // MatrixForm**

Out[]//MatrixForm=

$$\begin{pmatrix} e^{\frac{\alpha(1+\epsilon)}{2\epsilon} + \tau} & e^{\frac{\alpha(1+\epsilon)}{2\epsilon} + \tau} \xi \\ -e^{\frac{\alpha(1+\epsilon)}{2\epsilon} + \tau} \epsilon \eta & e^{-\frac{\alpha(-1+\epsilon)}{2\epsilon} + \tau} - e^{\frac{\alpha(1+\epsilon)}{2\epsilon} + \tau} \epsilon \eta \xi \end{pmatrix}$$

In[]:= **{tr = Tr@prod, det = Det@prod} // Simplify**

Out[]:= $\{e^{-\frac{\alpha(-1+\epsilon)}{2\epsilon} + \tau} (1 + e^\alpha (1 - \epsilon \eta \xi)), e^{\alpha + 2\tau}\}$

In[]:= **{tr, det} /. $\epsilon \rightarrow 0$**

Power: Infinite expression $\frac{1}{0}$ encountered. +

Infinity: Indeterminate expression $e^{\text{ComplexInfinity}}$ encountered. +

Power: Infinite expression $\frac{1}{0}$ encountered. +

Infinity: Indeterminate expression $e^{\text{ComplexInfinity}}$ encountered. +

Power: Infinite expression $\frac{1}{0}$ encountered. +

General: Further output of Power::infy will be suppressed during this calculation. +

Infinity: Indeterminate expression $e^{\text{ComplexInfinity}}$ encountered. +

General: Further output of Infinity::indet will be suppressed during this calculation. +

Out[]:= {Indeterminate, Indeterminate}

In[]:= **tr / $\sqrt{\det}$ // PowerExpand // FullSimplify**

Out[]:= $e^{-\alpha/2} (1 + e^\alpha (1 - \epsilon \eta \xi))$

In[]:= **tr / $\sqrt{\det}$ // PowerExpand // FullSimplify // Expand**

Out[]:= $e^{-\alpha/2} + e^{\alpha/2} - e^{\alpha/2} \epsilon \eta \xi$

In[]:= **Tr[ME[$\eta \rho y$].ME[$\lambda (\rho t - 2 \epsilon \rho a)$].ME[$\xi \rho x$]] // Simplify**

Out[]:= $e^{-\epsilon \lambda} (1 + e^{2\epsilon \lambda} - \epsilon \eta \xi)$